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Number Game	


Some children were playing the following game:


In the game each child had to think of a number. This number was called the initial number. The initial number was doubled and the result was subtracted from 10. This result was multiplied by the initial number. The child with the largest product of these operations was declared the winner.


1.	Write a formula that expresses the final result in terms of the initial number.


2.	Ted chose –1 for his initial number and Mike chose 2 for his initial number and Ann chose 10 for her initial number. Who won? Explain your answer.


3.	Bill’s initial number was chosen in the range numbers from –2 to 2, and John’s initial number was greater than 4. Is it possible to determine the winner from this information? Explain your answer.


4.	Is there a number that guarantees that you will not lose this game?
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